100% Guarantee
Vendor:IBM

Exam Code:C1000-148

Exam Name:IBM Cloud Pak for Business Automation
v21.0.3 Solution Architect

Version:Demo



QUESTION 1

Which statement is true when using ProcessDesigner?

A. Content objects are not accessible from Process Designer.

B. A content object editor is available for editing content objects.
C. A content object cannot be visualized on coaches.

D. A content object editor is available for viewing content objects.

Correct Answer: A

QUESTION 2

What are the two things that can be used to submit documents stored to FileNet Content Manager for Content Analyzer
processing?

A. Business document triggering
B. Sweep job

C. Check-in event handler

D. Content federation timer

E. Case Monitor task

Correct Answer: BC

QUESTION 3

What is one of the main functions of User Management Services (UMS) in Cloud Pak for Automation?
A. Administer global teams for Cloud Pak components

B. Certificate management

C. SAML token generation

D. Provide centralized user registry (LDAP)

Correct Answer: A

QUESTION 4

The Content Management Domain treats compliance in which manner?



A. Decentralizing the compliance process at the document level

B. Connecting to a built-in compliance database for content management function

C. Automating the burden of paperwork and regulatory compliance by digitizing and managing documentation
D. Utilizing Robotic Process Automation task bots to query government compliance endpoints

Correct Answer: B

QUESTION 5

Which identity governance and access management method is pre-integrated with the starter deployment of Cloud Pak
for Business Automation?

A. SAML
B. SSO

C. LDAP
D. OpeniD

Correct Answer: C

QUESTION 6

What is the appropriate deployment strategy that refers to use a new version of application for test / evaluation while
theold, stable version is used by production user and the new version is deployed only when ready?

A. Active-Active Deployment
B. Active-Passive Deployment
C. Blue-Green Deployment

D. A/B Deployment

Correct Answer: C

QUESTION 7

What is the core embodiment of a Robotic Process Automation scenario?
A. Automating thought-driven tasks in an enterprise

B. UtilizingAutomation-as-a-Service within the Cloud

C. Automating repetitive tasks across multiple interfaces

D. Utilizing automation bots to cognitively craft code



Correct Answer: A

QUESTION 8

Which process capability should be used for a use caserequiring manager escalation when a task is not completed?
A. Business Automation Workflow

B. Blueworks Live

C. Robotic Process Automation

D. Workstream Services

Correct Answer: D

QUESTION 9

Which statement is trueabout the integration between Robotic Process Automation with Automation Anywhere (RPA)
and Business Automation Workflow (BAW)?

A. Changing the mapping of the robotic task in BAW does not affect the integration thanks to the decoupling of the
components.

B. A bot definition is generated from the activity in BAW to drive the integration.
C. BAW does not support queue based setup of bots since it has no queuing abilities.
D. Teams should not be used for task assignment on RPA tasks since they are handled differently than human users.

Correct Answer: B

QUESTION 10

In OpenShift Container Platform, what is the smallest compute unit that can be defined, deployed, and managed?
A. Image

B. Project

C. Pod

D. ReplicaSet

Correct Answer: C

QUESTION 11

What is one of the expected outputs of Business Automation Insights event processing?



A. Kafka Topic
B. Summaries
C. Raw events
D. Dedicated Flink job

Correct Answer: A

QUESTION 12

What is the minimum role-based access control needed to install IBM Cloud Pak for Automation?
A. Administrator

B. Operator

C. Installer

D. Cluster Administrator

Correct Answer: A
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